M| Teste

===l CCGMPA@Néj QUANTITIES) -

) —
) WM /?mcmkaaﬁ

— 2" (&) Cl
Q K0

-\lfﬁ;\@‘/&\am :27/ ] T50
— 3} What benconk 4b S00g o} 2Kyl ——————

. W}i Q_CLU)_EH M o A5 21080

Scanned with CamScanner



et 1! (wfo‘r:d?}’rélf'\ié);&owlm BS — Avsivers)

() ixm - 45/"

o

S
\)
gl—
i

I]]
\q
!l\

B 35

S eSS : \

&9000%( n
%eka m 16"
W -

w_lus_,l.Qo g_o hbowbde

%) wa«wu w’”’“ S%o . ¢ _‘__,__;._«__‘::

Mo wadume = T ’0‘30 R\

1357 A '

217 o} ¥50 - i:f;xgo . %135 fffif._f%;j::
2 : ) o

.o
B
/ — - ————————— s A R e e

| P dveease ,w\,_/UAa }7%02, NMW\M D%gw\sﬁvalma. xwo/
o\ w\oeo %o xtca i
N A @75{5 — .
= 1200 - 1257

6

~ | e B0 oie o1

| > 152-pon=-5is0
=2

e S S s S U, S

o ; “ OAAC ooual«k’

3 SR |5 K= (’X — ‘5‘] 5)><loo N ‘

4 => \5% ' .)OOx—BﬂVSo

_9Bx =-5450

25

 Veomen Aus WW s 70"?/

o\)w)]kk M@(A)Nug«b\l" o lm)/

Scanned with CamScanner




Dl MP =230 .- e
H | discounk b = 15% — p
i S.P = 100.- W / X__M‘:fm;____;w,-~__,_ N
- 100 13 . 3
0 10015 x3p = £5X3 h
1‘1"“* IQQ-“W m—— T 4:'6':2 . - )
—— f s 2 BlT Ch 3 d 3
L - A b
. \')Mco_*/&e:e«_@_ Lojem notebosk J_tp_.}s}_c.?w& E
- = Bl x4-6 -2 306 b
i | 3
4 %) Bl aumpunk = 2 5400 byt = DOR = O ]
7 —

4 VAT % = 3% ' - 1
i MMFN&WVATMMMJMQQQ 4«
- Mx_ﬁj_ﬁ% %= 5400 ]
- ~» = A4 8 =500 . )
| | zoo —3
- "> 108 - BLoo 3
- Y P B
- X = = SHOOX(00 = 5000 » B
= | 0% 1o | E
. Homee M_che_/&(jlew VAT 1o aolcw ?5000 B
| ‘T) Cosk ,e—ﬁapauv ‘%(i »0|lese ékal:u %450 , :J
: - v x&\h» fox = 5%, B
- Bi;“ ourvuow/xk‘ LH0 9% yYo) =
- = LﬁB_OM-f-'—Z‘- X LG8 ——
- o “-“2- _7/‘
T =480 4225 -4
1 :.25:1,8_ ;E:QM_ 4
S R

| 0) | P=%2000 4
#.K = L_‘f/ SISO L i — «_M - o ,d//‘

el . ”_ﬁ,_,,""/

A

Scanned with CamScanner



ek 2 P14 Ry o 2oe(1x )t

Y%

e S Y

S-SR,

= 2000 X 104 xlo4 = R 216320

= Y —

= ?5@50 o g e S 3

R ;_I&A w I
245&«% - _L Wm A NS

mir———

e e e L R W

—

] :M (it R) (L RY
3 100 200,

e e

———————— e et e
srsve—

== = 31380 C |+’oo> Cl; : > - —

| %,.__«,*_Q.'ig_... _,%;,_ nd sor————
w L el ﬂ_.
& . 29 %x28 %53
= 24,562 |
L C-T = A—P - 41552 — 31280
= 2 10,302 2391

P- Z 48000 | o > g

R %% ______ O .

) P : !
’ L A4 > £
- st e -l el 55—t S e i A e e 4%
-

L Y i T Y- Sl o I f—
X o4 X1ob _B’_é@ N
L}‘Bﬁﬁﬁ -Hb Q’ op o

FUNIP——————

———

U IU——

- = z" b 9!6 80 R .
T = A (?_ 51,416.80 — 48, ooo
=2 3, _,0).16 30

Scanned with CamScanner



I

|1} €= 21p0,000 ‘3 L e
T e Amondhs = g = 2 year
I . IR H o
Rz bee Yy e
i fomeunk = PC_J.t R ) 3
g 8
! ooooo”( L+ 4 Y R
' loo, —
| - 100000 [ 10] \ C
a; 100 _
:|@¢g¢¢><lol XIOIXIDJ
ol P lop
_103030) = %10%030 1O
0 -
L CT - A d) P _'5 0_5_0 10 — ’-,O()/_OOED:_PE 77 h
2 2 5050. 10
m) s.p 234) |
(00— Je38/s i
- 100 % 39 E
(00 - |15
= 100 X 391 ' 1
5 o
= 2460 . A

Scanned with CamScanner



